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Opusti tato raketa
slnecnu sustavu?
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www.alphagomovie.com, Lee Sedol vs. AlphaGo 1:4 (2016)



two-minute papers
with dr. Karolyl Zsolhai-Feher
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Logika & symetria.
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Pripad tazkej ulohy — Hamiltonian cycle.
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previazanie
unitarne operacie

Rigetti Computing 2017
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faktorizacia

teoria Cisel

superpozicie a Fourier
super kvantovy algoritmus

RSA®

Peter Shor 21 = 3 X 7
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1. zmen znamienko riesenia
2. prevrat okolo superpozicie
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vyuzitie superpozicie
2D geometria

kvadraticke zrychlenie
(optimalne)

Lov Grover
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“nature isn’t classical”

dammit, and if you want to
make a simulation of nature,
you'd better make it
gquantum mechanical,

and by golly it's

a wonderful problem,
because it doesn't

look sO easy.

Richard Feynman
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[Endres et al., Science 354, 2016]
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Dwave Advantage
5000 qubits
(2020)
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Predicting many properties of a g.system from very few measurements
Hsin-Yuan Huang et al.,, Nature Physics 16, 1050--1057 (2020)

Quantum advantage in learning from experiments
Hsin-Yuan Huang et al., arXiv:2112.00//8
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nielen

prirodzene
kvantove ulohy
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supravodive obvody

IBM, 2017



lapene iony

Uni Innsbruck, R. Blatt
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Connie Zhou




oprava chyb




oprava chyb
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fundamental
fysiks group,
agazine, 19/5+]
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pestra zlozitost

nove nastroje

speclalizovane vyuzitie

mMnNone obmegzenia
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